Halloween Party Logic Puzzle

Five children are attending a Halloween party. Each of them
will be dressing in a different Halloween costume, and each of
them has a different favorite candy. One child is especially
excited to show off the zombie costume. From the following
clues, can you match each child with their favorite candy and
the costume they will be wearing?

1. The child who is going as a pirate and the one who has chosen
to wear a scarecrow costume are Raven and Jack, in some order.

2. The person wearing a ninja costume and the one who is
dressing as a vampire are the kids who prefer Rolos and Reese’s,
in some order.

3.M ‘n’ M’s are Jack’s favorite candy.

4. Matilda enjoys Skittles more than any other candy while
Frank is the one who loves Reese's.

5. Vincent isn’t the vampire, and the child who is the scarecrow
enjoys Fun Dip.

You may choose to use the grid below to help keep track of your information
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